FHSEERIEORR (TS57TRIRE)

- 7kﬁ$¥%§+
MBRT, R ENRTE (77 713105 HELF) B Co7z o, ARHEICIIFA L, RELIRERK,

>
)
A& R 1361&3, 6005 M

(RHFIRAY 2RO 1 FEOMH
EDRISHERRL LIz D)

XH

535f& o e O FEREr 65051, 80075

4, 20075 1
\ Bk 52 61155, 3005 1

&R 5027, 30075 1

LHFIE 16057, 30051

B 1427, 90075
S 4F9, 1005 1
F O3 331E5, 1005 1
SCPWN T e PRBIORECIRNS 17059, 100777
o 43485, 40075 [
¥ & B B % (§%§>
ll)lﬁﬁ 3] WH A a 59,687

55518
& # 51,798
) fth 1y

3,720
3,910
moA
4z

Iy

& 1,731
ol I 258

*

A

AEF] AN SS
1743, 100 7 M

(BEESEDKEE DHROE
FEITUV 2 < LVEIRA)

[
e N X e
=

S

B
=H
bl AVl

2,179
H b 53,542
51,302
6,153
15,164
5,073
6,518
1,479
491
13,636
2,785
2,156
1,673
483
B % 82
i

It

&
FOEED S G i X

wH

o

ik

EECI  EE i o i o

0
H_c 1,791
4,354

X




gzgegu&)\ 7kﬁ$¥%§+
ROz

Z O A
219, 900 5 9

A SRR DR 55
130{i5, 20075
BEITEY Ahfzi%

\ EEOTLMES)

S~ ZOMEH 60077 H

. REZE

¥ HE ¥ B % (BEEM)

(B |& A& B I A 0 16.299
i * & % 16,000

¥ % ) fth Iz A 299
HE A B X W @ 33,563

# % 54 B & 20,503

*t ¥ @& # 2 £ % 13,052

Iy z ) ith b3 H 6
s fid = 0

X|E A M X £5 8 (O-@)03]A 17,264




Tk 82 2
721% 1358, 30075 [
3, 5005 1
l\ FHE AT KR AR S22 13181, 7005 M
(L AE2EDORE)

—  MERkHEELE 5652, 20005 H

LRI = = e RRHOIRRERIAD SRR
12{&8, 5005
& / KIGE2EL: 8, 00077 H
FRASHT K 7 BRI A / (KBAZEFROERESORE)
4{E2, 4005 M
i(l%{j‘é%é %ﬁ%’%ljgllﬁ F M 654, 2005 1
1{3, 600 44 BRI \
y RERE
¥ ¥ ¥ B % (BEM)
I = B IR A a 8,052
EEEN IS 7,899
K Hh X B F XX I & 5,893
X [ 0 g I &% 136
HOE B KR £ EFE NKE 1,285
I H B FF oK B T B U &% 424
z ) ith Iy A 159
Bt 7% I &% (% B B ) 18
FE N IE 98
W 4 B R % 35
R & B F H b 7,235
E X B B 6,749
3] i3 8 & 1,383
7K A £ S & 3,289
H & B K it R &2 F X B 1,317
iy #H OB B Ok it B B £ 522
N I!:S- b, F &g & 80
Z ith 53 H 155
% Ei%%%ﬁl(iﬂ\ﬂ L) 59
T EXEHNEH 427
N IS 0
0
c 99
d 717




|

armmA | BREERE
RO
XA fifiBh4x%
2, 10045 M

EEEES
651, 800 /5 [
BEICEY ANt
(EZDOTLEESR)

FRRERT /K ML A 2

449, 500 /5 9

(R 5 B R BD

\ BEZITHIDEE)

Z DI H 5, 5005 H
* ¥ B B % <§%§>
(E & A B I A ©) 21
1 Bjj & % 21
K|IE X B X H @ 1,715
K h ¥ B KX F B & ZE 544
13 % & 18 = & 618
B OB B ok it B E 495
Iy z ) ith b3 H 55
¥ fi& & 0
X|E A M x 25 8 (O-@)03]a 1,693




XEEFEREXRSFE

>
T
>

A fKI=ESIE=¢
1{&5, 8005 4

TR 4 o
9, 70075 o1,
(hLHADEHERIE) 1, 4005 F Z DO H

2155, 900 75 1
\
HEBLE AR
IS kg
6005 H

WA BRI LS
3{&3, 0005 M

< DA
448, 000 /7 [

: REE
I Erm

4

ﬂlﬁﬁ B I A a 952

4
E [ 474

97
373
2

L
5

=

AT

“es

- BEBE

4717

e e N T T e

EraLg
22

0

b 614
449

s
EE[ Bt

=
I

B

=

196
158

94
164

0

0
H c 6
330




|

axmmA | CEERRSFERERSH
KU
fi
Z DML

1{&8, 0005

i i B e S R (R 2L
2{1%9, 3005 14

(FBETOEFFICEOE, HEgts0m
LIZRIOHERDERIONHEH)

F O 17,6005 H

) REZE

¥ HE ¥ B % BB

(B |& A& B I A 0 3.335
HEdt~ODEHENHEEESS 3,154

PN B = & B £ #H K 174
z )] it IR A 5

i E A M X H @ 7,470
K EESHE~0OFK B E F £ 7,000

o & OB O R FE E F E 293

i z ) o % H 176
¥ & # 0

X8 AWM x 58 (O-2)03]a 4134




- IR AR L MER AT

NOEEED

HEO SR B R U S
8, 600 5 1
(7 L—2a vEOHBERBICHANDEBEENODILA)

HEASHE BN 2, 70007 H
GEASHORHEEITHNDBEE DOILA)

FEOHER SR s et B

8, 60077 M

(T7 L—2a v EO#BERICHIISHEER)

HEAJE B 2, 7007 H
(RASFMOMITERIZ DD EH)

¥ H B B % R

Il & 8 W A a 1,764
H B O K E B Z G I A 1,649

@ EAGMEERBEEESENRA 86
8 2 OA OF O B B O A 27
IR # M X W b 1,764

Iz £ B KB £ 2 £ T B # 1,649
ZFAHIBREERERZATERE 86

b2 A H M B ¥ B 27




|

= ZN:]YON
RO

Jﬁﬁm%éﬁ%ﬁﬁ$¥§ﬁ

LN
11i&8, 10075 1

I [A]fE 3 e B2 REIA
1158, 1005 1

LT LEOBHRRRICH DD
EXENDDIA)

Xt
11i8, 10073 14

St [R]tRech FL
11%8, 10075 4

GBI F LZEDRBRBR AL HEHE)

¥ E B B F

RE R
(BFH)

M= = 3 o

HEMRERZFEUA

181

HRERBRE

181




- BaIREMRERET

X H
13{&
=R A 2,400 5 =R ASZFEE B
12{59 12{%9, 5005 1

(ERY LOHFE (ERT LOWBERIZANHEH)

NHDILA)

FHRIIE BRI 2, 90075 [ N RIS R 2, 90077 1]

(FERMOHEEEIZANDEEENSDILA) FHRMOHEERICRIRE)

¥ 8 M B % ("ﬁiﬁﬁﬁﬂ)

WX &= f I A 1,322

% = B ¥ L B B ¥ & B XA 1.295

i o ) A g B Ix A 29

R #F B F H 1,324

2 = R &7 L % X B B E 1,295

53 71 iR ; = b =1 29




|

sxona | BEAIIKREREEXESH
RUZH

A
67, 3005 [

=R A L HRR I B AR A
6{E7, 3005 M1

(ZRF LOEERHRISHN D
EEENSORA)

>
6{E7, 300 5 9

=PRA DR R A
6{87, 300 /5 1
(ERHLOBRBHEHDHER)

] REE
B ¥ & ¥ B % (BEEM)
&
K |ERY LIERBRZFENA 673
9]
”é 2L UN =T 673




